| ATEV R - 13125 I

560 | Semester B.Com. Examination, December 2018
(CBCS) (Semester Scheme)
COMMERCE
Methods and Techniques for Business Decisions
Time : 3 Hours Max. Marks : 70

Instruction : Answers should completely be written either in
English or in Kannada.
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English Version
SECTION — A

1. Answer any 5 (five) sub-questions from this section. Each sub-question
carries 2 marks. : (5%2=10)

a) Define Ratio

b) Mention the types of equations.

c) What are irratidnai numbers ? Give examples.

d) If X:18 =300: 6, find X.

e) Find the compound interest on Rs. 1,000 for 3 years at 5% p.a.
f) Find the 21%term of an A. P. 2, 4, 6, 8.

g) Find the HCF of 20 and 50.

SECTION - B

Answer any three questions. Each question carries six marks. : (3%6=18)
2. Find the TD, BD and BG on Rs. 600 due 4 years hence at 5% p.a.

3 8 6

3. Evaluate |9 8 2,
B 12 2

4. Solve for X, (5x + 1) (x + 3) = 3(x — 1).

5. Ifthe 3“ and 6" term of an A.P. are 7 and 13 respectively, find the first term
and common difference.

6. A man spends 30% of his income for rent, 50% of the remainder for other
expenses. If he saves Rs. 2,000 per month. Find his monthly income.

SECTION - C

Answer any 3 (three) questions from this Section. Each question carries
14 marks. (3x14=42)

7. a) Solve 9x* — 3x — 2 = 0 by using the formula method.
b) The age of the father is 4 times that of his son, 5 years ago the age of the
father was 7 times that of his son. Find their present age.
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8. a) The 4" and 8" term of a G.P. are 24 and 384 respectively. Find the 5" term.
122
b) fA=|2 1 2| show that A2~ 4A — 5] = 0.
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9. a) Find the difference between simple and compound interest on Rs. 3,000
in 3 years at 4% p.a.
b) If 10 bullocks can plough 12 acres of land since 15 days. How many
bullocks will be required to plough 72 acres in 5 days ?
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10. a) Find the inverse of {“3 5J ;
b) Solve 2x — 3y = 19 by elimination method.
3X+2y=9
11. a) Find 3 numbers in A.P. whose sum is 27 and their product is 504.
b} Find the sum of all integers between 200 and 800 which are divisible by 9.




